[lpakTnyeckoe 3aHATUE N2 4.

PeweHue 3aga4 Ha
npeodbpasoBaHMe anredbpanvyeckKkux
BblpaXXeHUMN.



Ynpaorxcnenue 1.

Haiinure obaacTu onpejleleHUA CASAYVIOIIHX QYVHKIII:

+3
1) y = logs(x — 3); 3) y= IOEE;

2) y = logy(1 — x); 4) y=lg (x +2)+1g (x - 1).




Ynpaoswcnenue 2. Peumuums ypaenenusn:

1) 4% =

2) 31 = 27;

7) i _ 8%
16

8) 3%+ = 27./3.3%;

9)10* = 2;
10) 3* = 224

11) 25 = 100;

2x-1
3) [1] =16;
2

4) 107+* =100;

12) 8*.5%*3 = 45;
13) 3% - 3% + 3* = 21;
¥4
14) 47 +2%%'1 162 =4T7;
x=-1 x+l

15) 4*-3 2 =32 2%

16) 5.2 = 3-21 + 56;

5) 3x+2

92.1'-

6) 2’”5 = 42;

17) 2*1 + 4 = 80;

18) 3"‘+31‘”=§§;
3

19 72 - 6.7 -7 =0;
20) 2%+ 2 =17‘
2*-27* 15



Ynpaoswcnenue 3. Peumuums ypaenenusn:

1) log,x = 2;

2) logsx = -2;

3) log.,(1 — 3x) = 3;

4) log, 2 — x) = log,3;
3) log(2x-3)=-2;

6) logi (x2-8x+1)=0;

3

7) log;logslog,x = 03

8) logs{x — 7) = logy(11 - x};

9) logs(x — 5) = logs(2 — x);

10) logs(x% - 4x) = logs(3 - 2x);
11) logsx + log,x = 3;

log,x 3
logg 3 ‘

12)



Ynpaoswcnenue 4. Peumuums ypaenenusn:

a) log, x = -1; 6) log, x =-3;

6
B) log, x = 2; r) log, x =-2.
Ynpaoicnenue 5. Pewiumo ypasnenus:
a) log, x = -3; 0) logv,.g z =1
B) logl %=1 r) log, x =-3.
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Ynpaoswcnenue 6. Peruums ypaenenusn:

W |

a) log 81 =4; 6) log, 113 =2; B) log, - =-2; r) log, 27 = 3.



Ynpaocnenue 7. Pewiumo ypasnenus:

2\* (9Y _ 27 3 _3[42-x.

e =] ==—3 6 81‘ - 4 L]
) (2).(2) -2 ) V853 =¥

_ 3 3x+1 7 5x-3
B) J27 . {3% =36; r) [—J =(—J .

T 3
Ynpaosicnenue 8. Peuuums ypaenenusn:

g) *rey g « [*¥1= 530: 6) 2-3*+*1 - 3*=15;
B) 4**+1 + 4* = 320; r) 8 - 5FY0 .48 5% = 77,

Ynpaoswcnenue 10. Pewuumo ypaenenus:

a) 9 — 8 -3*— 9 = 0; 6) 100* — 11 - 10% + 10 = 0;
B) 36* -4 .6%-12=0; r) 49 -8 .7+ 7=0.



Ynpaosicnenue 11. Pewuumo ypasnenus:

a) v2x+ :\/x2_2x+4; 6) ‘\/_=\[I2—I—3;
5) Vx+2 =+2x-3; 1) VO-% =x+9.

Ynpasicnenue 12. Pewuumo ypasnenus:
a) x=9§/x3+x2—6x+8; 6) x-2=3/x2-8;

B) x=3/x3-x%2-8x+20; r) x+1=3/x3+2x%+ x.



